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Questions
Period of tan x is
Period of cos xis

Period of sin xis

Range of cot xis

Range of tan xis

Range of sec xis

Range of cos xis

Range of cosec x is

Range of sin xis

Domain of cot x is
Domain of tan x is
Domain of sec xis
Domain of cos xis
Domain of cosec x is

Domain of sin xis

graph of trigonometric function y = sec x does not meet

graph of sine function is bounded between lines

The number of x-intercepts of y= sin xin his period

The period of the trigonometric function y = sin x cos x is

Answers Choice
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Negative real numbers
R-{x|- 1 &lt; x &lt; 1}

[-1.-]

R

Negative real numbers
R-{x]|-1 &lt; x &lt; 1}

[-1,1]
R

Negative real numbers
R={x]-1 &lt; x &lt; 1}

[-1.1]

R

Negative real numbers
R-{x]|-1 &l x&lt; 1}
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Negative real numbers
R-{x]-1&lt; x&lt; 1}
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Negative real numbers
None of these

None of these
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